B 5 E NMEBS o | MFU=PI7 | MFPU- A
A
. 100kcal 14%5(250g)1=l) | 14%(300g) 3511 wEs RS
TRILF— kcal 100 200 300 - -
9UINIBE 20%* g 5.0 10 15 60 =
g = 20%* g 23 45 6.8 - -
BaF0ABRLEL g 0.91 1.8 2.7 - -
[MCT g 0.39 0.79 1.2 - -
n-6RASHE g 0.45 0.91 1.4 8.0% -
n-3FASHEL g 0.15 0.30 0.45 22 -
Rk 60%* g 15.7 31.4 47.1 = -
B g 1.2 23 35 1g%*r -
FUTHE g 0.25 0.50 0.75 = -
K5 g W76/ 82 101 202 228 - -
E9=UB; mg 0.32 0.64 0.96 1.2 =
E9=B, mg 0.35 0.70 1.1 1.3 -
FATIY mgNE 35 7.0 11 13 300
E'9=B, mg 0.45 0.90 1.4 1.4 50
] ug 45 90 135 240 900
£ [E9=UB:, ug 0.45 0.90 1.4 2.4 -
2 lexFy g 6.0 12 18 50** =
I | NN mg 2.0 4.0 6.0 5 -
E9=C mg 80 160 240 100 =
EYI=VA UgRAE (IU) 82(273) 164 (546) 246(819) 800 2700
E9=E mg 35 7.0 11 6.5* 750
E9=>D ug(U) 2.0(80) 4.0(160) 6.0(240) 5.5 100
EI=K ug 95 19 29 150* =
FRUDL mg (MEq) 177(7.7) 354(15) 531(23) 80007 -
BigEy e g 0.45 0.90 1.35 = -
J0—)b mg(mEQ) 199(5.6) 398(11.2) 597(17) - -
AUTL mg(mEq) 156(4.0) 312(8.0) 468(12) 2500 =
SZEDSIN mg (mmol) 39(1.6) 78(3.2) 117(4.8) 320 -
DN mg (mmol) 94(2.3) 188(4.7) 282(7.0) 700 2500
= [Uy mg (mmol) 75(2.4) 150(4.8) 225(7.3) 1000 3000
£ [Jon g 4.0 8.0 12 10 -
IREEEE ug 32 6.4 9.6 25 550
S mg 0.50 1.0 1.5 4.0% 11
% mg 0.81 1.6 2.4 7.0 50
3 mg 0.12 0.24 0.36 0.9 10
BN mg 1.8 3.6 5.4 9 40
L ug 5.0 10 15 30 400
I% ug 19 38 56 130 3000
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